EAGRAROBREERT — 2 N— ABISH —F

20201830 (&) 23EEMH2H

m%?%'%’ Y oR4mE (xwlw | mEmml - v 0w
[x&<£] 1 % :8,000,000 @ ~ 23 :2,240,000 @ 3% :1,120,000 @ ~ 4 7% :800,000 @ .~ 5 7 :640,000 M
B\ BB BB Mk HE BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
1156l Tar=2x #7 | BhEE 1:(5_8).0 3-3-32 |37.6| — | 1 | 516 ﬁﬁ;’é:ﬂg (FEH)
RTANETy Y2 BI-YhU—F #8) | mis
olgliol =152 1H> 47 gﬁ;zfvgﬁzt 1:{531'3).5 1-1-1-1 [ 39.1| — 4 541 ﬁg%ﬁ (Eem)
L:772)1I7 B:I-E-EE (47) R 7 7 — L
31111 | X1 vaytttx £:10 5?&6%%% 1(:15/82.>6 8-7-6-5 |37.7| — 8 z:g; iﬁ;ﬁz (EH)
RN=VITL BT IANTFAR Y5 7S
4 4 FAFT H 6 5‘2{?6@ 1(:5/%7 5-5-4-4 |38.2| — 2 ;1:327) Ezgg (Ee)
Z:d—ILRAqMO— B:RT71vF P95 B8R
51811 ¥ARFURT L i 6 Isﬁéégﬂﬁ 1<758E§ 2-2-2-3 |38.8| — 3 480 ;z@éﬂﬂ)
R:Y=Z24—-3=224— B:xaAY3T7(1— -6) HO o gk
6 1 /5T > 8 éééjgkﬂb (11:519/48 6-6-5-6 |38.1| — 7 (4_810) Eﬁgg _T_(E!EE)
LN—=Y97514 B:J1FLy bXTT BREHFB LA/ 77— L4
202l10l 71 k=70 6 E%é#ﬁ (11519/233 10-9-10-9 | 37.5| — | 11 | 450 ggi‘/ﬁt (EE)
LTANNTTFY— B:v1x74—-> 3 EvJLy RT7—L4
glzlg|pUF27L—2 # 8 213239& (;3?:)3 7-8-8-7 (3.0 — | 9 | 504 gmgéﬁﬂi)
R:ATARTZI BAOY 4 —> 2 | FTremas
9 3| AXETF—X 6 sui_ﬂ(i)tx’ék 1:(529).6 1-12-11-11{ 37.6 | — 6 457 %ﬁgi% (EmH)
LRFAT—IE BiFARD Y A ) e gLy kTr—n
10/5|5| 7VF>E2X H 7 é'y_?dIE— 1(:15/92.)7 9-9-9-10 |37.9| — | 10 | 480 iﬁgﬁzj} (Emm)
R:oA7% BEI/HLR O g Ex
" s FAEREEEEE #5 | ZWRE (22010/ 21) 4-4-7-8 |39.4| — | 5 ;@:‘3) 1&@*!13 Jgﬁg)
R:YZ28—3=24— B:aAFxaA 75 Nty
1Bl | RV —E-T1 UG R £ O LR ol I B g%fg% (i)
QTS ra%Y—F BIOF(—185—F 00 | i gx—
® I —F—@EBIERL
13=3r= 12,11,6,7,4,8,9,1,5,10,(2,3)
Pol=3F= 12,11,6,7,4,8,1,9,(5,10),2,3
Jo=3r= 12,11,6,4,8,1,7,9,5,10,3,2
40 —F— 12,6,11,4,1,8,9,7,10,5,3,2
[ RN
B OB 6 280 714K 6-12 510M % E 5-8 440/ 3ER 1-6-12 9,140
B B 6 140/ 1-6 1,190 | | & = 6-12 1,070M3 | | @& | 6-12-1 30,660
12 310 1-12 2,840 B H# 6-12 1,710M
1 500M

ARICOVWTRDTEEERROODE. TR LI,



